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              ��#�"�����  3  �$%��01ก,�	
��$1�$�3������ก� ��������"��ก� � ���+��3)& 
)��ก!�ก  �ก� � ��� *&���+	 ����  � %������
 ��!,-.��ก(*�!
�����&��/!��  ก������ �
ก� � ��� *&ก� �����)�$�����	+�+���  ���� ����ก� ���)�#���'��01ก,�
2���  5                
              �����"�&��������&��*� 
                  ก3���0������
  �&'
ก� ��ก �5����4��������ก7�!G�5�  5  >�
 �5��$��>��-6�-���               
*�
ก�&*+���ก
�� =0��4��5�ก����ก7��-7��>3ก   =0  3  �5�ก+�3�
��ก7�����(�,�) �5���5�  2                 
!Gก����ก7�  2552  �+����  25  )� >&� 3��ก
$$ ��%�
 (Purposive Sampling) 
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              �����"�&����%#��� 
                  ��ก7�)�����
��(�=�
��ก �5���5��50��ก�� �5��  >&�(�'��&ก-�ก���ก�� �5����'         

$$>)�

��   ����

��!�%&-7�8��ก,��-!.		��'�
�-��  ก3���*��%ก�� �5����'ก��
�����5�        

3% �)>�>3�5  *+����$��ก �5����4��������ก7�!G�5�  5 
 

              �����"�&��"�
�
  
                  0��
!��5���ก7� 

                  )�����
��(�=�
��ก �5����4��������ก7�!G�5�  5  �5��50��ก�� �5��>&�(�'��&ก-�ก���      
ก�� �5����'
$$>)�

��   ����

��!�%&-7�8��ก,��-!.		��'�
�-��  ก3���*��%ก�� �5����'ก��
��
���5�
3% �)>�>3�5  *+����$��ก �5����4��������ก7�!G�5�  5 
 

�!���0�$�.�4$�� 
1.  )��ก!�ก  �ก� � ��� *&���+	 ����  � %������
 ��!,-.��ก(*�!
�����&��/!��

������
  ��&ก-�ก����5�BJก(�'��ก �5���&' �5����'&'���-�5ก��*��
$$>)�

�� ����
ก��!�%&-7�8    
��ก,��-!.		��'�
�-��  ���
)���+���'��5� !"��5�!��ก7���ก �5�� !"�H�'!/-$�0-
3%��ก7�)'�)�'�       
&'��0� �
���
��&ก-�ก���ก�� �5����'>&�>)�

��  !�%ก�$&'����&ก-�ก���  �+����  6  ��&  &�
�54 

    ��&ก-�ก���ก�� �5����'�5�  1   ����
>)�

�������' 
                         ��&ก-�ก���ก�� �5����'�5�  2   ����
����)��,��-!.		� 

                         ��&ก-�ก���ก�� �5����'�5�  3   ����
��0��3-=-0)-&>)�

�� 
                        ��&ก-�ก���ก�� �5����'�5�  4   ����
�3�
ก��
��!�%&-7�8 
                         ��&ก-�ก���ก�� �5����'�5�  5   ����
�-�-0�-�!�% �-� 

    ��&ก-�ก���ก�� �5����'�5�  6   ����
 �3-& �3-��3�-����ก�� 

2.  
 ��!�'!(�$�ก56.  80/80  ������
  )��!�%*-��-,��=�
��&ก-�ก���ก�� �5����'

$$>)�

��   ����

��!�%&-7�8��ก,��-!.		��'�
�-��  ก3���*��%ก�� �5����'ก��
�����5�      

3% �)>�>3�5  *+����$��ก �5����4��������ก7�!G�5�  5  >&� 

 80  0��
�ก  ������
  )��!�%*-��-,��=�
ก�%$��ก��  �%0'�
����'��ก��� 

)���'��3%  80  =�
)%
�� #35���5��&'��กก���+�ก-�ก����%����
ก�� �5��  
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 80  0���3�
  ������
  )��!�%*-��-,��=�
H33���8 �%0'�
����'��ก���)���'��3% 
80  =�
)%
���5���ก �5���+��&'��กก��*�$&'��
$$�&*�$��&H3*��M��-6��
ก�� �5���3�
(�'        
��&ก-�ก��� 

3.  7����8�'!9���ก� � ���ก������ �ก� � ��� *&ก� �����)�$�����	+�+���  
������
  H3�5� ก-&��กก�� �5����'=�
��ก �5��>&�(�'��&ก-�ก���ก�� �5��
$$>)�

��   ����

��
!�%&-7�8��ก,��-!.		��'�
�-��  ก3���*��%ก�� �5����'ก��
�����5�
3% �)>�>3�5  *+����$
��ก �5����4��������ก7�!G�5�  5  ���
��&�&'��ก
$$�&*�$��&H3*��M��-6��
ก�� �5���5�)�%H�'��ก7�
)'�)�'�*�'�
=�4�  �53�ก7�% !"�
$$�&*�$��-& 3��ก0�$  4  0�� 3��ก  �+����  30  ='�  >&���&
�M0-ก���&'��)�����'  )����+�  )��� ='�(�  ก���+��!(�'  ก���- )��%�8  
3%!�% �-�)��       
0��
��)-&=�
$3�� 

4.  ��ก,�ก� 
:!��"!���
 ��!,-.��ก(*�!
�����&��/!��  ������
  ก�%$��ก��
!/-$�0-
��=�
��ก �5��>&�(�'��&ก-�ก���ก�� �5����'
$$>)�

��   ����

��!�%&-7�8                
��ก,��-!.		��'�
�-��  ก3���*��%ก�� �5����'ก��
�����5�
3% �)>�>3�5  *+����$��ก �5��         
��4��������ก7�!G�5�  5  >&�!�% �-�&'��  ก��!�%�����

H�ก���+�
������ก��  ก�� 0�5��
 )����
��� ��*&�-��!ก��8  *����5�  ก���+�
��0����'��5��5��&'��$��$����  )����������             
(�ก���+�
��ก��!/-$�0-
��0��=�4�0��  $����กH3ก��!/-$�0-
��  ก��
ก'�=  !��$!��
�%����

!/-$�0-
��  ก��(�' )����
���  ��!ก��8  �&'��ก�-�5
3%!3�&,��  ก��(�'��*&�����
!�%���&  ก���+�
)���*%��& )����
���  ��*&�
3%��!ก��8 *����5�!/-$�0-
��  H3
�� / �-4�
��    

5.  7����
 ��!,-.��ก(*�!
�����&��/!��  ������
  �-4�
���5��&'��กก�� �5��>&�(�'
��&ก-�ก���ก�� �5����'
$$>)�

��   ����

��!�%&-7�8��ก,��-!.		��'�
�-��  ก3���*��%ก�� �5����'
ก��
�����5�
3% �)>�>3�5  *+����$��ก �5����4��������ก7�!G�5�  5  >&��-�����H3
����ก
*-�
!�%&-7�8  )���)-&*�'�
*��)8  ก���+��!(�'!�%>���8  )��������=�
*-�
!�%&-7�8  ��*&�    �5�
�+����+�*-�
!�%&-7�8  )���!�%�50  *��
��=�
*-�
!�%&-7�8  )������*�(�=�
*-�
!�%&-7�8
)���!3�&,��(�ก��(�'
��  =��&=�
��!���
*������8ก�$ก���+�
�� 
  6.  	�5��ก,5����$1�
 ���	.3�ก� �����������ก� ��� ������
 3�ก7�%=�

��ก �5���5�!��ก/����
��& ��(�ก�� �5��>&�(�'��&ก-�ก���ก�� �5����'
$$>)�

��   ����

��
!�%&-7�8��ก,��-!.		��'�
�-��  ก3���*��%ก�� �5����'ก��
�����5�
3% �)>�>3�5  *+����$
��ก �5����4��������ก7�!G�5�  5  �-�����3�ก7�%=�
��ก �5����กก�� ='�����ก-�ก���ก����

H�
����ก��  )���0�4
(�  (�ก���+�
��  (BQ��'(BQ �5��  )�����$H-&��$  ก��
*&
)���)-& �I�    
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7.  	
��$1�$�3�  ������
  )�����'*�ก(�&'��&5�5�H�' �5���50����&ก-�ก���ก�� �5����'
&'���-�5*��
$$>)�

�� ����
  
��!�%&-7�8��ก,��-!.		��'�
�-��  ก3���*��%ก�� �5����'ก��
��
���5�
3% �)>�>3�5  *+����$��ก �5����4��������ก7�!G�5�  5  *�������&)�����
��(��&'         
��ก
$$��&)�����
��(��5�)�%H�'��ก7�)'�)�'�*�'�
=�4��53�ก7�% !"�
$$��0��*���!�% �-�)��
(Rating  Scale)  ���
ก+���&)����ก !"�  5  �%&�$   

 

���"!-�����ก� 
!��� 
 ��ก �5���5� �5��>&�(�'��&ก-�ก���ก�� �5����'
$$>)�

��   ����

��!�%&-7�8             
��ก,��-!.		��'�
�-���3�
(�'��&ก-�ก���  �5H3*��M��-6��
ก�� �5��*�
ก��� ก�K8  �'��3%  80 

                  

 

 


